Find the antiderivative/indefinite integrals:		
1. $\int (x^{3/2} + 2x + 1)dx$	4. $\int \frac{5}{x} dx$	
2. $\int (2 - \frac{3}{x^{10}}) dx$	5. $\int \frac{dx}{\sqrt{9-x^2}}$	
3. $\int (\sin(x) - 6\cos(x))dx$	$\int dx$	

(3)
$$\int \left[\sin(x) - 6\cos(x)\right] dx = \left[-\cos(x) - 6\sin(x) + C\right]$$

$$4 \int \frac{5}{x} dx = 5 \cdot \ln|x| + C$$

$$\int \frac{dx}{\sqrt{9-x^2}} = \arcsin\left(\frac{\pi}{3}\right) + C$$

6
$$\left(\frac{dx}{x^2+25} = \frac{1}{5}\arctan\left(\frac{x}{5}\right) + C\right)$$

Example 2: Rewrite before integrating		
3. $\int_{1}^{4} \frac{x-2}{\sqrt{x}} dx$		
4. $\int_{-\cos^2(x)}^{\pi/4} \frac{1 - \sin^2(x)}{\cos^2(x)} dx$		

Screen clipping taken: 6/3/2019 12:38 PM

$$(1) \int (x+1)(3x-2) dx = \int (3x^2+x-2) dx = x^3+\frac{x^2}{2}-2x+C$$

$$2) \int (x^4 - 3x^2 + 5) x^{-4} dx = \int (1 - 3x^{-2} + 5x^{-4}) dx = x - 3 \cdot \frac{x^{-4}}{-1} + 5 \cdot \frac{x^{-3}}{-3} + C$$

$$= x + 3x^{-4} - \frac{5}{3}x^{-3} + C = x + \frac{3}{x} - \frac{5}{3x^3} + C$$

$$2^{\frac{nd}{3}} \underbrace{x^{\frac{4}{3}} - \frac{3x^{2}}{x^{\frac{4}{3}}} + \frac{5}{x^{\frac{4}{3}}}}_{x^{\frac{4}{3}}} dx = \underbrace{\left(1 - \frac{3}{3x^{2}} + \frac{5}{x^{\frac{4}{3}}}\right) dx}_{= \underbrace{$$

$$\frac{3}{4} \int_{4}^{4} (x-2) x^{-\frac{1}{2}} dx = \int_{4}^{4} (x \cdot x^{-\frac{1}{2}} - 2x^{-\frac{1}{2}}) dx = \int_{4}^{4} (x^{\frac{1}{2}} - 2x^{\frac{1}{2}}) dx = \int_{4$$

$$\pi/4 = \dots \qquad \pi/4 \qquad \qquad |\pi/4 \qquad \qquad |$$

T/L	=	Tc/4	
- (π/4	Ċ	π <i>l</i> L ₁
4	$\frac{1 - \sin^2(x)}{\cosh^2(x)} dx = \int_{-\infty}^{\infty} \frac{\cos^2(x)}{\cos^2(x)}$	$dx = \int 1 dx = x$	$\overline{\eta}$
	$(pn^2(x))$ $(con^2(x))$		0 4
0	0	۵	-

Example 3: Integration by Substitution	on (u-sub)
$1. \int x\sqrt{x^2+2}dx$	$4. \int \frac{(\ln(x))^2}{x} dx$
2. $\int_0^4 \frac{1}{\sqrt{2x+1}} dx$	$5. \int_0^{\pi/2} e^{\sin(x)} \cos(x) dx$
$3. \int \frac{\sin(x)}{\cos^3(x)} dx$	6. $\int_0^{\ln(5)} \frac{e^x}{1 + e^{2x}} dx$

Screen clipping taken: 6/3/2019 1:03 PM

1.
$$\int x \sqrt{x^{2} + 2} \, dx \qquad \int dx = x^{2} + 2. \qquad du = 2x \, dx \rightarrow \frac{du}{2} = x \, dx$$

$$\frac{du}{2}$$

$$\frac{du}{2}$$

$$= \frac{1}{2} \int \sqrt{u} \, du = \frac{1}{2} \int \frac{u^{\frac{1}{2}} \, du}{2} = \frac{1}{2} \cdot \frac{u^{\frac{3}{2}}}{3} = \frac{1}{2} \cdot \frac{z}{3} u^{\frac{3}{2}} + C = \frac{1}{3} u^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)^{\frac{3}{2}} + C$$

$$= \frac{1}{3} \left(x^{2} + 2 \right)$$

3.
$$\int \frac{\sin(x)}{\cos^3(x)} dx$$

$$= \int \frac{\operatorname{Ain}(x)}{\operatorname{cos}^{2}(x)} \frac{1}{\operatorname{cos}^{2}(x)} dx$$

$$= \int \frac{\operatorname{Ain}(x)}{\operatorname{cos}^{2}(x)} \frac{1}{\operatorname{du}} dx$$

$$= \int \frac{\operatorname{Ain}(x)}{\operatorname{cos}^{2}(x)} dx$$
Let $u = \tan(x)$. $du = \operatorname{All}^{2}(x) dx$.

$$= \int \frac{\tan(x)}{\tan^{2}(x)} dx \qquad \text{let } u = \tan(x) . \quad du = \Delta L^{2}(x) dx .$$

$$= \int u du = \frac{u^{2}}{2} + C = \int \frac{\tan^{2}(x)}{2} + C .$$

$$2^{nd} = \frac{u^{2}}{2} + C = \int \frac{\tan^{2}(x)}{2} dx \qquad \text{let } u = \cos(x) . \quad du = -\sin(x) dx$$

$$= -\int \frac{du}{u^{3}} = -\int u^{3} du = -\frac{u^{-2}}{-2} + C = \frac{1}{2u^{2}} + C$$

$$= \frac{1}{2 \cos^{2}(x)} + C = \frac{1}{2} A \cos^{2}(x) + C = \frac{1}{2} A \sin^{2}(x) - \frac{1}{2} + C = \frac{1}{2} (A \cos^{2}(x) - L) + C$$

$$= \frac{1}{2} \tan^{2}(x) + C$$

$$= \frac{1}{2} \tan^{2}(x)$$